
2

1

1.   The Rebound Goal Kit allows installation of a Goal
      kit for use in a Multi Use Games Area.
2.   The Goal Comes PPC, However It Can 
      Be PPC In A Variety Of Standard And Non-Standard
      Colours.

MESH-KIT-4850

661.3 KG
Steel

MUGAplay® - REBOUND MUGA 
GOAL MULTI-USE-GAMES-AREA

 MESH FENCING KIT

Item Component Name Qty
1 MESH-PLAY-5200 - MUGAplay® - 3.0 MTR REBOUND MUGA MESH FENCING GOAL 1
2 MESH-KIT-3915 - 3.0m High 868 Rebound Mesh Fencing System - Clamp Bar Kit 2

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING
Notes:

REV DATEDESCRIPTION 

TITLE:

SKU:

REV

OF1:30 1 6

31/07/2025W.P



 3
86

0 

 8
30

 
 3

03
0 

 3065mm ± 10mm Post Centres  2475mm ± 10mm Post Centres  2475mm ± 10mm Post Centres 

 8015mm ± 10mm Post Centres 

 7
35

 

 8056 

 2416 

 1200 

 2415 

 
48

6 

 40  40 

 8
0 

 8
0 

 80 

 80  80 

 7
80

 ±
 1

0m
m

 
Po

st
 C

en
tre

s

1.   The Rebound Goal Kit allows installation of a Goal
      kit for use in a Multi Use Games Area.
2.   The Goal Comes PPC, However It Can 
      Be PPC In A Variety Of Standard And Non-Standard
      Colours.

MESH-KIT-4850
MUGAplay® - REBOUND MUGA 
GOAL MULTI-USE-GAMES-AREA

 MESH FENCING KIT
661.3 KG
Steel

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING
Notes:

REV DATEDESCRIPTION 

TITLE:

SKU:

REV

OF1:20 2 6

31/07/2025W.P



10 5 414

78 21

20

6

9

12

17

15

2
1

3

1.   The Rebound Goal Kit allows installation of a Goal
      kit for use in a Multi Use Games Area.
2.   The Goal Comes PPC, However It Can 
      Be PPC In A Variety Of Standard And Non-Standard
      Colours.

MESH-PLAY-5200
MUGAplay® - 3.0 MTR 

REBOUND MUGA 
MESH FENCING GOAL

446.3 KG
Steel

11

19 18

13

Item Component Name Qty

1 MESH-REB-8340 - 3.0 MTR REBOUND LH GOAL CORNER 80x80 DIG IN MESH POST 1

2 MESH-REB-8320 - 3.0 MTR REBOUND RH GOAL CORNER 80x80 DIG IN MESH POST 1

3 MESH-REB-7220 - 3.0 MTR REBOUND CORNER 80x80 DIG IN MESH POST 2

4 MESH-REB-8360 - 3.0 MTR EXTENDED REBOUND INTERMEDIATE 80x80 DIG IN MESH POST 1

5 MESH-PLAY-2010 - BACKBOARD POST ASSEMBLY 80x80 x 1500MM 1

6 MESH-PLAY-5220 - PLAYMAKER® - 3.0M X 810MM WIDE GOAL BACKBOARD 2

7 MESH-PLAY-8120 - 3030mm HIGH X 860mm WIDE REBOUND 868 MESH FENCE PANEL ONLY 2

8 MESH-PLAY-8115 - 3030mm HIGH X 1560mm WIDE REBOUND 868 MESH FENCE PANEL ONLY 2

9  ACCS-RIB-0003 - 60x60 BLACK RIBBED INSERTS 9

10 MESH-PLAY-5050 - MUGAplay® - BASKETBALL HOOP ASSEMBLY 1

11  ACCS-MSH-0050 - M8 x 40mm MESH SECURITY BOLT 108

12  MESH-PLAY-9245 - REBOUND BLACK SPACER 108

13 MESH-PLAY-9050 - M12 X 80 HEX HEAD BOLT 2

14 MESH-PLAY-9055 - M12 x 110mm HEX HEAD BOLT 1

15 MESH-PLAY-9060 - M12 x 140mm HEX HEAD BOLT 2

16 MESH-PLAY-9070 - M12 x 160mm HEX HEAD BOLT 12

17 MESH-PLAY-9130 - M12 WASHER 17

18 MESH-PLAY-9120 - M12 HEX HEAD NYLON NUT 17

19 MESH-PLAY-9110 - M12 HEX HEAD NUT CAP 17

20  ACCS-RIB-0005 - 80x80 BLACK RIBBED INSERTS 4

21 ACCS-RIB-0005 - 80x80 BLACK RIBBED INSERTS 5

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING
Notes:

REV DATEDESCRIPTION 

TITLE:

SKU:

REV

OF1:20 3 6

31/07/2025W.P



 3
86

0 

 2985 

 8
10

 

 8
30

 

 8
30

 
 3

03
0 

 3065mm ± 10mm 

 1
41

0 

 2
22

0 

 3
13

6 

 3
95

0 

 1585 

 9
00

 

 8
30

 
 3

03
6 

 3145 

 1450 

 7
35

 

 
48

6 
 1200 

 7
00

 

 1
60

6  7
80

 ±
 1

0m
m

 

 1530mm ± 10mm 

A

EXPLOADED VIEW

12

9

21

11
8

3

7

1.   The Rebound Goal Kit allows installation of a Goal
      kit for use in a Multi Use Games Area.
2.   The Goal Comes PPC, However It Can 
      Be PPC In A Variety Of Standard And Non-Standard
      Colours.

MESH-PLAY-5200
MUGAplay® - 3.0 MTR 

REBOUND MUGA GOAL
MESH FENCING GOAL

446.3 KG
Steel

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING
Notes:

REV DATEDESCRIPTION 

TITLE:

SKU:

REV

OF1:20 4 6

31/07/2025W.P



 1
9 

 8  140 

 
12

 

MESH-PLAY-9060 - M12 x 140mm HEX HEAD BOLT 2X

 1
9 

 1
9 

 110  8 

 
12

 

MESH-PLAY-9055 - M12 x 110mm HEX HEAD BOLT 1X

 160  8 
 

12
 

MESH-PLAY-9070 - M12 x 160mm HEX HEAD BOLT 12X

 R6 

 1
9 

MESH-PLAY-9120 - M12 HEX HEAD NYLON NUT 17X

 10 

 
24  

13
 

MESH-PLAY-9130 - M12 WASHER 17X

 3 

 
18 

ACCS-MSH-0050 - M8 x 40mm MESH SECURITY BOLT 108X

 40  5 

 
8 

 
15 

 2 

MESH-PLAY-9245 - REBOUND NYLON SPACER 108X

 15 

 1
9 

 8  80 

 
12

 

MESH-PLAY-9050 - M12 X 80 HEX HEAD BOLT 2X

MESH-PLAY-5200
MUGAplay® - 3.0 MTR 

REBOUND MUGA 
MESH FENCING GOAL

N/A
N/A

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING

REV DATEDESCRIPTION 

TITLE:

SKU:

REV

OFN/A 5 6

31/07/2025W.P



1

3

4 5
2

 600  600 

 1200 

 9
00

 

Hole Detail
CL

CL

 
48

6 

 152 

 2
0 

 8
0 

 110 

 1
17

 

4 x  12 THRU ALL

 55  55 

Hole Detail

CL

CL

MESH-PLAY-5050

MUGAplay® - BASKETBALL
 HOOP ASSEMBLY

N/A
N/A

Item Component Name Qty

1 MESH-PLAY-5045 - BASKETBALL BACKBOARD B-W 120x90cm 1
2 MESH-PLAY-5025 - BASKETBALL RING 4.5in x 3.5in 1
3 MUGA - M10 X 50mm HEX BOLT 4
4 MUGA - M10 WASHER 8
5 MUGA - M10 NYLON HEX NUT 4

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1

To
le

ra
nc

e   0 - 50mm

 3mm

1mm

 0.2mm

>1000mm

> 50 - 500mm

A

APV'D

Material:

WEIGHT:

A3
SHEETSCALE:

Third Angle Projection

DATENAME

DRAWN

DO NOT SCALE DRAWING

REV DATEDESCRIPTION 

TITLE:

SKU:

REV

OF1:12 6 6

31/07/2025W.P


	Sheet1
	Drawing View47

	Sheet2
	Drawing View48
	Drawing View49

	Sheet3
	Drawing View1

	Sheet4
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Detail View A (1 : 4)

	Sheet5
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View28
	Drawing View29
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View36
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View44
	Drawing View45

	Sheet6
	Drawing View12
	Drawing View13
	Drawing View14
	Detail View Hole Detail (1 : 6)


